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2004-05 District Competition

Match #36

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups

1.  Their unsuccessful attack on Rourke's Drift was made into a film of the same name. They inflicted the worst defeat ever on British armies by a non-European force at Isandlwana [ee-SAHND-lwah-nah]. The battle of Ulundi [oo-LOON-dee] ended the war between the British and -- what African natives of South Africa, whose greatest king was Shaka?

answer: _Zulu_

2.  Call it a nineteenth-century version of "Honey I Shrunk the Kids"; in this musical work, a girl shrinks to less than a foot tall and encounters mice, Chinese dolls, and soldiers.  Christmas Eve is the time setting for what 1892 Tchaikovsky ballet featuring the Dance of the Sugarplum Fairies and the title wooden soldier?

ANSWER:  The _Nutcracker_ Suite

3.  A zygote is a one-celled organism that results from what process?

ANSWER: _fertilization_

4.  His literary reputation was founded on his versatile studies of "the American girl." In a series of witty tales, he pictured the "self-made" young woman who insists upon American standards in European society. Who is this American-born but naturalized English novelist who wrote _The Portrait of a Lady_?

ANSWER: _ Henry James _ (need first name)

5.  He isolated potassium and sodium by passing a strong electric current through solutions of various compounds suspected of containing undiscovered elements. He also discovered boron and proved that the diamond is composed of carbon. But he is perhaps best known for his invention of a miner’s safety lamp. Who is this British chemist?

ANSWER: Sir Humphry _Davy _

6.  THIS IS A COMPUTATION QUESTION. Simplified form of an imaginary number entails no imaginary part in the denominator, and no negative exponents.  What is 2 times i to the negative third (note: two is not raised to the negative third), {2i^-3} expressed in simplified form?

ANSWER: _2i_

7.  French verbs whose infinitives end in -ir [spell out the letters] use -- what letter to end their past participles?

ANSWER: _i_

8.  We know that antibiotics are used to cure diseases, but what substances do our bodies use to prevent diseases? 

ANSWER: _antibodies_

9.  This team won a National League record 116 games in 1906, but lost the World Series in six games.  They then won back-to-back titles the following two years, but since then have undergone a 96-year drought.  Identify this group of "lovable losers" who play home games in Wrigley Field and are currently led by Mark Prior and Sammy Sosa.

ANSWER:  Chicago _Cubs_ 

10.  This nine-letter word comes from the Greek word meaning, "to find." Unlike an algorithm, which is a non-changing rule set, it is a flexible idea that can be applied, such as "more expensive food is better." What is this term used in problem-solving and computer science?

answer: _heuristic_

11.  He claimed that he fought 100,000 battles against the Japanese, to have turned sand into rice and to have crossed rivers on a leaflet. The central tenet during his rule was that of juche [JOO-chay], a Korean word meaning self-reliance. The Korean War was started by -- what "Eternal Great Leader" of North Korea, the father of its current ruler?

answer: _Kim Il-sung_

12.  In October, this veteran financial journalist asked CNBC to pull the plug on his show that has been hosted for the past year by Consuelo Mack due to his back cancer. Ironically, 162 PBS stations picked up -- what journalist's new show after PBS cancelled his original series, Wall Street Week?

answer: Louis _Rukeyser_

13.  A Thermos bottle is a household version of one.  Name this type of container with silvered walls and a vacuum used to store cool or hot substances.

ANSWER: _Dewar_ flask

14.  Until he was fifteen years old, he went by the first name of Leaf.  He portrayed Max in "Parenthood" and Clay Bidwell in "Clay Pigeons," but broke through with his role as the sniveling Emperor Commodus in "Gladiator."  Name this younger brother of the late River, star of the 2004 movies "The Village" and "Ladder 49."

ANSWER:  _J_oaquin (wah-KEEN) _Phoenix_   

15.  She contrasts the heroic age of Western railroad building with the less inspiring period of glitter and wealth that followed in _Lost Lady_. Who is this Winchester, Virginia-born novelist noted for her portrayals of frontier life on the American plains in such works as _O Pioneers!_?

ANSWER: Willa _ Cather _

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  14.7 pounds per square inch and 760 millimeters of mercury equal one of what pressure unit?

ANSWER: _atmosphere_

1B.  How many letters are required to designate the genotype of a dihybrid individual?

ANSWER: _four_

2A.  THIS IS A COMPUTATION QUESTION. An urn initially contains ten balls: 4 red, 4 white, and 2 green.  Two balls are picked at random without replacement.  What is the probability that they are different colors?

ANSWER: _32/45_ (accept equivalents such as 64/90)

2B.  What software maker might drop the price it is willing to pay for buying PeopleSoft?

answer: _Oracle_ Corporation

3A.  Infant boys in Jewish society are welcomed into the covenant by the brit milah, where they are given a name and have what minor operation performed on them?

answer: _circumcision_

3B.  THIS IS A COMPUTATION QUESTION. What is the difference between minimum and maximum values of a plus b plus c, if a, b, and c are distinct positive integers such that a is less than twelve is less than b is less than thirty is less than c is less than forty? { a < 12 < b < 30 < c < 40 }

ANSWER: _34_ (min = 45, max = 79)

4A.  Spelled one way, it means a lustrous jewel. Spelled a second way, it refers to a stitch in knitting. What is the word?

ANSWER: _ Pearl or purl _

4B.  Who was the last Saxon King of England, the loser of the 1066 Battle of Hastings?

answer: _Harold II_

5A.  What city is home to the United States Air Force Academy?

answer: _Colorado Springs,_ Colorado

5B.  Freddy Eynsford-Hill and Henry Higgins are characters in what George Bernard Shaw play about love and the English class system?

ANSWER: _ _Pygmalion_ _

6A.  What 1911 Marc Chagall (sha-GALL) masterpiece shows a man's face in profile in green in the right foreground and a large animal's profile in the left foreground?

ANSWER:  _I and the Village_ (or _I and My Village_) 

6B.  Communist-hunter Joseph McCarthy represented -- what state in the US Senate?

answer: _Wisconsin_

7A.  Chemists celebrate Mole Day between 6:02 a.m. and 6:02 p.m on -- what day of the year?

answer: _October 23_

7B.  Name the Booth Tarkington novel which features teenager William Sylvanus Baxter, who falls in love with Miss Pratt, a summer visitor whose presence in town leads to hilarious consequences for William and everyone around.

ANSWER: _ Seventeen _

8A.  In Hemingway's _The Old Man and the Sea_, what animal does Santiago remember seeing running on the beaches?

ANSWER: _ Lion(s) _

8B.  In which winter sport resembling shuffleboard do teams compete in bonspiels, using brooms to help sweep stones across the ice?

ANSWER:  _curling_ 

9A.  Before slavery became common in Virginia, what type of servant, bonded to their employer for a fixed period of time, performed most menial tasks?

answer: _indentured_ servant

9B.  THIS IS A COMPUTATION QUESTION. f of x equals x-squared minus three x.  What is f of the quantity three minus x? {f(x) = x^2-3x. f(3-x)?}

ANSWER: _x-squared minus three x_ {x^2 - 3x}

10A.  THIS IS A COMPUTATION QUESTION. R equals 18 and theta equals 150 degrees.  What are the Cartesian coordinates that correspond to this polar pair?

ANSWER: _x = -9 SQRT(3), y = 9_

10B.  The deepest point in the world's oceans is the Challenger Deep in -- what trench in the Pacific?

answer: _Mariana_ (or Marianas) Trench

Third period, 15 toss-ups
1.  His major works include _So Disdained_ and _What Happened to the Corbetts_, which give a foretaste of the bombing of civilians in World War II. Name this Australian-born author of _On the Beach_.

ANSWER: Nevil _ Shute _

2.  Members of this religion believe in the Torah, but do not believe in the Talmudic tradition of Judaism. They believe that God lives on Mount Gerizim, and built a temple there. Around the time of Christ, they numbered in the hundreds of thousands but number only about 650 today. What is this religion, a member of which Christ singled out for his "goodness?"

answer: _Samaritan_ or _Samaritanism_ or _Samarian_

3.  Its first value, assigned in 1791, was about $75.5 million dollars. In 1835, it had shrunk to only $33,733, but it quickly grew again. It temporarily became larger than our gross domestic product in World War II. As of May 2004, its value was a little under $7.15 trillion dollars. What is this economic statistic often used by critics of the government running budget deficits?

answer: the U.S. _national debt_ or _public debt_ (do not accept budget deficit, the debt is simply accumulated deficits)

4.  What state experiences the most tornadoes per year, more than twice as many as its neighbor to the north?

ANSWER: _Texas_

5.  Alex, the protagonist, has a passion for classical music and is a member of a vicious teenage gang that commits random acts of brutality. After he is captured and imprisoned, he is transformed through behavioral conditioning into a model citizen but ultimately reverts to his former behavior. This is the story line of what novel written by Anthony Burgess?

ANSWER: _A _ Clockwork Orange_ _

6.  The verb form of this word means to acquire the feathers necessary for flight or independent activity. The noun form can mean not only a young bird that has just acquired these feathers  but also an immature or inexperienced person or one that is new. What is this word?

ANSWER: _ fledgling _  or accept fledge

7.  What is the term for a collection of elements that are of the same type and are stored adjacent to each other in memory?

ANSWER: _array_

8.  This work is believed to be a self-portrait of the artist on the left with two poet friends.  Located in the Philadelphia Museum of Art, it depicts Harlequin, Pierrot [pee-ay-ROH], and a monk, playing a violin, a recorder, and an accordion respectively.  What 1921 Synthetic cubist painting is a masterpiece of Pablo Picasso?

ANSWER:  The _Three Musicians_

9.  In the late 1920s and early 1930s, there were massive droughts in the Great Plains, leading to disastrous incidents where inches of topsoil were literally blown away in the course of hours, ruining farms and livelihoods. By what collective name are these erosive dirt storms known?

answer: _Dust Bowl_ (accept _dust bowls_)

10.  THIS IS A COMPUTATION QUESTION. At what point is the x-intercept of three x plus two y equals four?

ANSWER: _(4/3, 0)_ (prompt on "four-thirds")

11.  The Jacobite Risings of 1715 and 1745 sought to restore -- what dynasty to the throne of the United Kingdom, a dynasty whose kings included Queen Anne and Charles II?

answer: House of _Stuart_

12.  Tin and lead are the most commonly used elements to make -- what type of alloy with a low melting point that is melted and used to join two metallic surfaces, especially in electronics and plumbing?

answer: _solder_ [SOD-der]

13.  Correct the grammatical error in the following sentence:  Measles are a children's disease.

ANSWER: Measles _ is _ a children's disease

14.  In October, the Supreme Court refused to hear the case of American Teleservices Association v. FTC, letting stand a 10th Circuit decision. The decision was hailed by privacy advocates, as it allowed the preservation of -- what popular list? 

answer: the federal _Do Not Call_ registry

15.  What two words do psychologists and economists use to describe someone who benefits from being part of a group, but contribute nothing to the group?

answer: _free rider_ or _free loader_

Spare questions (Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  By area, it is the fourth-largest state in the country. Major cities in this state are Miles City, Glasgow, Kalispell and Bozeman, and it is the home of Glacier National Park. What is this state whose largest city is Billings, and whose capital is Helena?

answer: _Montana_

2.  If two lines are crossed by a transversal and alternate interior angles are congruent, what is the relationship between the slopes of the two lines crossed?

ANSWER: _equal_ (accept "the same")

3.  After this man died in 1847, he was buried on a hill in Fort Wayne, Indiana.  A Swedenborgian Christian missionary born in Massachusetts, he is considered to be an early ecologist and developed legendary status while still alive.  Name this man, born John Chapman, who planted numerous fruit trees in Illinois, Indiana, and Ohio.

ANSWER:  _Johnny Appleseed_ (accept John _Chapman_ until mentioned)  

4.  Posterior refers to the tail end of an organism and dorsal refers to the top or backside, but what word refers to the belly side of an organism?

ANSWER: _ventral_

5.  What poet wrote the lines "An aged man is but a paltry thing, / A tattered coat upon a stick" in his "Sailing to Byzantium?”

ANSWER: William Butler _Yeats_ [YATES]
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